Assignment/Exercise  for 020206 (Thursday)

Problem 1

OLS Regression

Part 1

a) Give a short description of the estimation technique OLS.

b) Explain what is meant by multicollinarity and explain what consequenses it can have for the regression equation

c) Why is it important that the error term should be normally distributed?

d) What is meant by the term “parameter-bias”?

e) What sort of information does R2 in a regression equation give us?

f) What is the t-value for a regression coefficient?

g) What do we mean when we say that a regression coefficient is “significant”? 

Part 2

Table 1 presents data on per capita food consumption (fc), price of food (fp) and per capita income (ci) for the years 1927 – 1941 and 1948 – 1962.

Concentrate on the following two regression models:
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Evaluate the models and present interesting graphical plots.

This data set is not to be found on the address above. 

Table 1 (1927 – 1941 and 1948 – 1962)
  fc                    fp                  ci               fc                    fp                  ci

	   88.90 
   91.70
   57.70

   88.90
   92.00
   59.30

   89.10
   93.10
   62.00

   88.70
   90.90
   56.30

   88.00
   82.30
   52.70

   85.90
   76.30
   44.40

   86.00
   78.30
   43.80

   87.10
   84.30
   47.80

   85.40
   88.10
   52.10

   88.50
   88.00
   58.00

   88.40
   88.40
   59.80

   88.60
   83.50
   55.90

   91.70
   82.40
   60.30

   93.30
   83.00
   64.10

   95.10
   86.20
   73.70
	   96.70
  105.30
   82.10

   96.70
  102.00
   83.10

   98.00
  102.40
   88.60

   96.10
  105.40              88.30

   98.10
  105.00
  89.10

   99.10
  102.60
  92.10

   99.10
  101.90
  91.70

   99.80
  100.80
  96.50

 101.50
  100.00
  99.80

   99.90
  99.80
              99.90

   99.10
  101.20             98.40

 101.00
  98.80
            101.80

 100.70
  98.40
            101.80

 100.80
  98.80
            103.10

 101.00
  98.40
            105.50




Problem 2

The Logit Model
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Use the data set Affairs.sav (se below) to estimate the probability for couples having children. The dependent variable is Children. Choose the predictors: Years, Religious, Education, Occupation and Affairs. 

Fair (1978) published a data set which concerns the number of extramarital affairs and its determinants. We will use nine of the variables from the data set:

GENDER

0= female, 1=male

AGE


in years

YEARS

number of years married

CHILDREN

0 = no, 1= yes

RELIGIOUS

1 = anti, …..,5 = very religious

EDUCATION
number of years of schooling, 9=grade school, 12=high school, 20=PhD

OCCUPATION
Hollingshead scale of 1 to 7

HAPPINESS
self rating of quality of marriage, 1=very unhappy, …,5=very happy

AFFAIRS
number of affairs in the past year, 1,2,3,4-10 coded as 7, monthly, weekly, and daily coded as 12. Treat this variable as continuous. 

Use the data set: Affairs2005.SAV or  Affairs2005.psf
� EMBED Equation.3  ���
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